Spiral Review

Use the graphing calculator, find the first five terms of the
sequence.
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p.581 8.2 Arithmetic Sequences

A sequence whose consecutive terms have a common
difference is called an arithmetic sequence.

Finding the nth term: Finding the sum:
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Students will be able to determine if a sequence is arithmetic

and find the common difference.

Example 1: Determine whether or not the sequence is arithmetic.
If it is, find the common difference.

2) 40‘4,\/14\,/1‘1(/?_4, b) 2= 2!
15 45 15 15 ,3,4,3,16,....
@H is an arithmetic N 42 .
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Students will be able to find the formula for the arithmetic
sequence.

Example 2: Find a formula for a, for the arithmetic sequence.

a) a;=15,d=4 b.) a5 =190, a;0= 115

_ n2in-Nd = 0,+(n-)q
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=I5+ 5= 190+ 5d

= 15tHn-4 d=-15
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Students will be able to write the first five terms of the
arithmetic sequence.

Example 3: Write the first five terms of the arithmetic sequence.
(Use graphing calculator)

a) a1 =-10,d=19 b) as =16, a;4 = 38.5

Oln= a|+(n"0d 35= Y494
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~10-1,%, 1,3

Students will be able to write the first five terms of the
arithmetic sequence, and find the common difference.

Example 4: Write the first five terms of the arithmetic sequence.
Find the common difference and write the nthterm of the
sequence as a function of h.
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Students will be able to find the partial sum of the arithmetic

sequence.

Eample S: Find the indicated nth partial sum of the arithmetic
sequence.

Acj) S L0 T b.). 21 =15, 2199 = 307 h = 100
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Students will be able to find the sum of the arithmetic

sequence without using the calculator.

Example 6: Find the partial sum without using a graphing
calculator.

100 100 50
2) D120 b.) D p—s51l — 21N

§ - L(atn) G 2 5149

. %g(a N aoo) = 45(15) = a5(s)

= 3P =315
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Turn-in:
p.586 (14, 24, 34, 68)

HW:
p.586 (5,11,17,21-41, 65-75 odds)



